
112 EXEKCI8KS I\ ALOKMIiA.
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(5.) 2 in. (6.) (8,t + 15/)) {Ha - 9h).

(7 .) ViicUiV ]iih hnud Hide, etc. (8.) (.r + z).

(9. ) a* -pa'+ qa' - m + .s ^ 0. (10.)
^
^'^ •

EXERCISE XXXIII.

(1.) ;)= 26, q^ -24. (2.) Apply ^]-^^ otc.

(•U . (4.) . (5.)

Page 58. (<J.) . (7.) p-\'^.

(8.) Write (./•)'•' -(2)'". Henco (..•" i- 2") (r^ 2*) (.-««+ 2»)

(.• + 2)(,r-2).

({>. ) Write 9./"'' + .•^Cu;^ + 1 2..'^ + 48.r + 4;i- + 1(5 - 9/^(..-+ 4)+
12.r(ie + 4) + 4(..- + 4) = (.'J^i; + 2f (.*: + 4).

(10.) (2x + 3i/ + ;j) (x + 4i/+ 3^).

1

EXERCISE XXXIV.
0)
(2.) (rt

,
4- a. 4- a .,,

-
114)3: + (^i + o

...
- a., + a^ )y + (a j - a^

(3.) a-''-3tt62+ 2c3 0. (4.) ^*-2. (5.)

(6.) A cube. (7.) ''=31. (H.) -I. (9.) .r = 4.

(10.) Multiply Hrst =n by a, second by 6, third by c.

EXERCISE XXXV.
(1.) -1024. (2.) . (.3.)

(4.)(2j/-x+ a)(i/-2x-r0. 0->.) .2^-^48

•

(6.) 2(? + ^)p + i')-

Page 59. (7.) Let .r2+wcc+i/s= aq. root of expression. Square

ami e'jiate co « flicieuts, 2m—p 2mp/6'= r, .*.

y/^' - /-.

20:2/

(8-) (:-:+:-:+! +r- (»•)

(10.) Multiply each term by x^-y'\ etc.,

EXERCISE XXXVI.
(1.) ,.-10.

(2.) Factor, simplify ; .square remainder =a''+ 6'+ c' -

2ab + 2ac -26c.


